EAGRAROBREERT — 2 N— ABISH —F

202138210 (H) 2@E411LU8H

1R EEERL S

‘ [Ri&] & ‘ [REBE] — | & (%) 1800M 4=

[A&4£] 1 7% :5,100,000 2 & :2,000,000 @ 33 :1,300,000 @ 4 3 :770,000 @ 5 % :510,000 A
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
- 4 3 | REiRk#A 1:56.1 13-13-9-4 |39.8| 87.9 | 5 488 | =G (KH)
1 3| 7—==7 56.0 =) ) | B HrI42
R:IXF>FLy B:TIVZT AAXFRFEFLASE RS
P # 3 | FEIR 1:56.8 3-3-6-6 | 40.8 | 82.8 | 1 476 | M ()
2 4 a4 YILE >R 56.0 (4) (-8) LEHEH
LAWK BT, W7 7 — L
; - 4 3 | IHRS 1:57.1 3-3-2-1 | 41.5| 80.9 | 2 514 | EEEERS (5H)
3 10| 1 E—> 56.0 (1 3/4) (-p) | TAEK
Likya—4i<I B:bAEAHILTY ® s
. > 3 | BEBA 1:57.6 6-6-32 |41.8| 77.2 | 9 470 | RIRE (Fid)
42|12 2>FY “ 7| 5.0 @ o | @ a7r-n
RTUBARIL R BAIUES INTr—L
= Y 4 3 | ABHRY 1:58.1 9-11-12-10 | 41.4 | 73.0 | 8 460 | =AE (EH)
51813 F¥FYXTJ7OrO 0 3) 4 LIk
L:a—-KA+ra7 B:UFITSF AN
ST S 4 3 | BEAT 1:58.2 3-3-3-4 |42.4| 732 | 7 46 | BFHL (ER)
Eﬂ 9 4—» RTZv7 56.0 (1/2) 4 |REEE
R:TTYIEA K BTUSF—42—TFU— EY A T — L
= 4 3 | Bt 1:58.7 9-9-9-10 | 42.3| 69.4 | 13 476 | BKER (EH)
71111 | TATaTLHZb 54.0 ®3) (+6) | EMEAIZ
LHY ST -THAF BLAFTY i B S
> 43 | AEIGH 1:58.7 7-7-8-8 | 42.6| 69.7 | 4 194 | BERB— (EH)
8 2| FTT 4T 56.0 (74%) 42) | @R G1L—>2y
R:VvRxay14 B:Fa—L BRT 7 —L
. - K B IR L :59. 76— . . REE= (=8
N BESE A SZL R ) R - Ry S A Rl Rl Gy |EEER
R:xXF B:NX—TIH7z RENS
= 4 3 | EHE 2:00.3 2-2-1-2 |44.7| 61.2 | 11 | 500 |m=A&EXHE (Eik)
10[5|7 R/ —A=>F1h [B] 8.0 ® iy | EIAE
L:T7 RIS Y L—> B:ehIrTHY) FrRLAS
N > 4 3 | SeEKRH 2:00.6 9-9-9-9 |44.2| 58.4 | 10 434 | NE—B (EH)
11/8[14) 71— 2> VET 5.0 @ (o) |EB&E
R:AA4agyLvyy &:7309 miN77 -4
ERBR : -12-12- EE AR (EH)
12l5 8| FrFrex 4 3 Ll 2.(061).6 12-12-12-12| 44.8 | 52.7 | 12 (453) i
R:2v—h77)a> BT RIS YAF Sl BR
S 4 3 | ALHERRE 2:06.2 1-1-3-12 | 50.5 | 37.1 6 484 | PEE— (EH)
Eﬂ 5| T1~ : 5.0 (54%) 1) | EARIE
x2S BIRNYYUR 24 N1 WIS
= © = FHRtER = = = = - — | RHTE (EE
%% 7|11 BIVAHIL—-F R i (BGH) (=) |EEGX
LI >T75yva BvYw/RFa—0 SYitse
@ 21 L
£y 53.8-40.5
NA> 24 L | 12.5-11.4-12.8-13.0-12.6-13.3-13.8-13.3-13.4
® I—F—&EBIERL
13=3r= (x5,7) (4,9,10)12(2,6)-(1,13,14)8-3 11
20—4— (¥5,7) (4,9,10)12(2,6)-(1,14)13,8,3 11
33—7F— (x7,10) (5,9,12) (4,6)2(1,14,3)-(8,13) 11
Mal=5r= 10(7,12) (9,3) (4,6)-2,14(1,13)-(5,8) 11
0 IR
B R 3 1,430 | | 71 K 3-4 4201 | | # = 3-3 920/ | | 3EfE 3-4-10 1,140/
# B 3 250H 3-10 700 B E 3-4 1,1108 EE 3-4-10 10,610
4 110 4-10 200M B H 3-4 3,220M
10 1409

ABRICOVTHRTEEERROODE, THEB LS,




